
l

,f={€QJ . 2021.3.

4 t zl:.J+^l+

2021E= 7l=EtAFrJ EAPI

el*
8-572

d.E.

D dl*ol#
202r|i.e C+ aCrt= H=lq4zl ts.a .zlflzJ? 9 rzl*;lil+4 7l+
*4zl$Br 4111="il "14 

,J4^lS zl€?.49 207o€ ayl dzdtlts ,rlEl

9zlzl*('J.n.JBzl4lC), 99*:z*dzl? 3*419"il qq q]+^lqqel
elag *=;1 g'.

n +s4+
1. Htltl4z) s-E..zlSzJfr

o roJ4l^l H4vl4zl Bi 'j 4t]"il *t aql., d+4'J.il "+4 H4
4ql9 zJ+Cr+ d4Cg rq;lq +B+ xlfl€ €-c-tr-61= a+ zl{
E= da"il elril H4rl4zl€ zl94€ yl4zl9 a+6J 4+qlcg
.5.s-6t4 €EB aC4qql qv+ 2021"1 100,00049E "Jt^l H5l

9dlzl -ts-i.zl-fl 7l++ d+ =^d4lzl il.

2. ^lq +{ zl *(*ot "Jqzl 4f c )

g .{=l gzl zJ * ('}.i| oJ gzl 4l ud ) g ol x}f oj u}e-e. ++*e4 "l z}* 44
€|"il tr+4 ^lg+{lel "14*ol g,l"l dcs '} ec.-49 307, H9
,t]-$g..E- aq ,ll'J[*s"J 2r.2.t7.]44, "J4r]S xl€?e49 zlC"l
17,087a9 qlul 192.67o 14EJ 50,00049"e_ 4l€ da+.

3. +ei*zgdzl*
C S4*z*dzl*9 d4r)ts ul€*.4€ zlde4 284,080a9 4ul

25.5Vo +E* 356,63149_e-E 4q Ha+.



! *dl4E
O 2021d5. Halqqlz]I.=' . zl€zl* ++4q (.J)

O 2021d5,$f $zlzlf,(4"[q]$l{lC) g+4qHA ('J

O 202lds g-el*3gdzl+ S+4lqHA(*)
O 202 rds. 4l 251 +EJ4'J *"J slzl *d g +l S9 zt 4 A'+Eia

: *Jr
: gg2

: goJS

: gg4

-3- ll4lqla:lui - $e5 - 2021-03-04 10i41:03 rlr.1.*t,.184



(Egl)
9ltt,tl ElslElollll EE 'Ilflzl= et4=J(91)

n rtEEtt
c rtegtEg

A9l: 8fl

x +"J : 1g; ea* 5 gE4ee el+ql^l +"JEl: e'+(qltle q+ + qlE++g=iil+ rllel)

x ^l=: dE4eE 9+E ^l=51: +"+(ql^lB "l qlEJ; Illel)

o +?tI|E

A9l: Efl

2020LJs.EJ 4€q
(7t')

2o21EE et4q 2021LJ_EoJ

E€04
(of)=(zf)+(zf)+E(Lt) zl#(Et) =2toEl

(4) = (rtF(ct)

7l€(A)

EE(B) 100,670 100,670 100,670

=e(B-A)
100,670 100,670 100,670

E9l: d
--_.-_-,._ * *

qt^trt+ -----.- 7l€ qltlq Ee qttlo4 =7tOE Hf a-

-4l n 100,670 100,670

d"J* 0 100,000 100,000

qlqtolal+oJ 0 670 670

c n|=I|E
---'--.- + +

qhtq+-----,.- 7l€ 0{lt!o4 E€ qt!o4 47tOE Hl .a

EJ 4I 100,670 100,670

qt q3 0 100,670 100,670



n +Ea-t|
O gt$^l Htltrlollzf Ea q zlflql 

-+:"J 
4ql 41134

- 
^1x|:. Hrlq6flzf -H__tr_.zl? ^fgE ?g:"J +e .zlEg 9l6|q "Jt^l
H3ltrl6llzl _H__e..zlfl 7l* €zl

- 7l+ 
=+7la'J 

i 2023. 12. 31. / +x'o+ 5q?

n aet Egrug
> 7l++"J4e E€
O 7l+ {]€ql rl= 7l* 4Bg +i:"J "J"Jsl4ld"J+ : 100,0048

c ql++olzf+E : 6704fl

> 7l+^lib4q E€
O 5"J4€oJ€E7l+ei ql++ : 100,670fl8

n g91q
O 2021E H4trl6tlzf -H.e'213 ^fg +tl

- 5 - li€l0llar ri f,i.rraj .. 20?1 03 04 1Ci4r:03 ** * *'.184



(=el 2)
2021E=,tlAlE+Il7 l= et4=f HJA (E)

c -ltaetgg
A9l: 8fl

x +g : 593, eIB 5 dE49E el+ql^l +"JEl=;"+(ql^l+ ol+ 'l qlqfefl+ol+ IlleD

x rlE: aE4eE q+e 
^l=El: 3o4(q1l+ "l qlE+e rllel)

C +gTq

20208-EoJ 3€q
(7tl

2021LJE SA4l_,€l 2021E.E oJ

e€q
(sl)=(71)+(+)+E(Lt) al€(trt)

47tOE
(4) = (rtF(ct)

7l€(A) 11,038,645 338,00B 442,717
^104,709

10,933,936

EE(B) 11,239,749 338,008 475,630
^137,622

11,102,127

=e(B-A)
201,104 32,913 ^ 

12 q1? 168,191

:dfl
-"------..._+ E

o{l+r!t+ ------...- 7l€ o{l{tq Ee qttq z7toEt Hl z
ar 4l 780,725 813,638 32,9't3

a4+El+ 235,000 235,000 0

qt++fl+q+ 442,717 475,630 32,913

ql++olat 83,008 83,008 0

TlEt+E 20,000 20,000 0

c n|=I|E
9l: tfl

-----,_..._+ +qt{trt+ ------.-.- 7t€ qt$q E€ qltlq 47tOE Hl .7.

EJ 4I 780,725 813,538 32,913

Hltal€^tgHl 242,717 275,630 32,913

t1t€^lgHl 200,000 200,000 0

qtq+ 338,008 338,008 0



n 
^lglll9c ^tgTlrJ 

: 2021. 42 - 122
o 

^fgL{lt- ?-olloJg 7'llg4-ztBzlE "j ^tqJg5 arqalS
C 2020LJE 

^fgHl 
: 32,744,500?

n lq uE^lg€o||g=ry 1|E)
> 7t++E4tq EZ
O qlqe?*al+ : (ee) 50,000e8 - (716) 17,087d? = 32,e13?13

> 7l+7|'#4+ E€
c Hltzl€/.fEHl : (z€) s0,000d? _ pl8) 17,08747 = 32,e13d7

x'^fd+zl7l+ 
=.El 

ifldql rlC €-e l'gul S"J 3€
t6F0lloJ+zl4ld olzl+q^ft--- dLJE 'J 4€o4E 30%Hgl 

^f€-l

tr ggltE
O ^fel+zl7l+t8olloJ+zl4l€1Et4lq Ee(?!) Eel 6oJ "l q€ + Ss tE 

^l6J

- 7 - -irlaliar ri i.j:'r al 2Cr1 A3 1)4 il:?ir Cll *r* r r'r 184



<=93>
20218E qqgugd 7 l= Etzl4HJS (91)

o -lteetEg
l9l: tfl

x iE : dB*, Ele 5 €E4eE el+oll^l +Eel: ee4(qllle q+ "t ql++geq+ rlleD

x rl5: dE4oe q+E rl=El: +.+(qlll3 "l qlE+; xllel)

c +etlE

2020LJ5.EJ A€o4
(7tl

2021!JE eA4q 2021E-EEJ

=€sq(0f)=(zf)+(af)+E(L+) 1li+(ct) =7tOE
(at) = (lJF(rt)

7l€(A) 1,609,8s4 392,9s1 284,080 108,871 1,718,72s

E3(B) 1,737 ,665 420,502 356,631 63,871 1,801,536

=rJ(B_A)
127,811 27,551 72,551 a45,000 82,811

E9l: t
---,-,..._ + E

ql^tlt+---r,,-..- 7t€ qttlo{ E€ qt$q z7tcrE HI .T.

EJ 4I 677,031 777,133 100,102

d"J+ 350,000 3s0,000 0

ql++?+El+ 284,080 356,631 72,551

olal+E 12,951 12,951 0

TlEt+oJ 30,000 57,551 27,551

o ry=I|E
------,.._+ +

qt{!!t+ -----..- 7le qlto{ E€ q{to4 z7tOE Hl -?.

EJ 4I 677,031 777,133 100,102

HlE1l€^lgHl 284,080 356,631 72,551

ql q+ 1q2 qql 420,502 27,551



r ^tgTe
O +el€tr alfl^fg

- + !: ?ELf1e_E aillE +EBztrgE u=q zlqz4lg g€ct
- )l )Ji 2021. 1. - 7.

- r+l d.: $Lll Zljl 2711L x. of-E.zuilull, ?/ lqlol(+)
_ L1 t: -rl?+qlzl 37fle zJ g_l_n1211 ^lteg e0%= zl?(10%= zf+-+)

- 
^tgHl 

: 21,5514fl (+Hl 100%)

c ts.r.E €Hl^lg
- + 4' EE BUE ql'J 

^t?3 5-"J tddf_L rll*"J ^Jg_+e a€
- )l )Jt 2021. 3. - 5.

- ttl Ni: ++€- €- 37tl-a, T|EE €' €-=-^l€E 7t17ll

- Ltl t: E+Ezle4l^lttl l+ €il, EHBTE +4HJzlEB ^l*.
- 

^fgHl: 
45,0001?(EHl 100%)

tr TE EBrUg
> 7l*+oJ4l4 EZ
C qlq+ fl*Eli: (e€F56,631d8 - (zlS)284,080d9 = 72,551d9

- qe]"Jr ^lg^lgnl %lrg €Hl^lEg 916l] qlq+ g*el+ 5"j
C TlEl+E: (e€)57,551d9 - (71€)30,000d9 = 27,s51d9

- qe]*n^lg+9 f,+Bol 7lE++"J +71

> 7lz7l=4q Ee
c Hlg^ld 

^tEtsl: 
(a€F56,631d9 - (71€)284,080d9 = 72,551d9

- gq*r 
^lg^lg(+Hlxl?): 27,551d9

- *rE €Bl^lB(liBlxl?): 45,000d9

O ql q ]: (l$)a20,502d9 - (7ld)3e2,e51dE = 27,551T!g

- eelgaxlfl:€ 5-'J4l€ o + olxll6lzl 96l] qq+ +"j

tr ggltE
c qqu}rgd7l*et4le Ee("J) Eoi +e "i +€ + ^fg ^te


